T2 5 EERRMT 1 — /L FEFIEXRR

RRA7-F1)-H=

ER26FE3R168
FAOREFS
CPEBEFDEB
JIE 42 K £ il & F 1st 2nd 5+6 6
1 INE B BTET™ 377 191 186 61 11
2 kB EN WIERX 377 192 185 60 30
3 ZF B =fEm 372 180 192 56 29
4 FEER ET mER 370 182 188 58 25
5 HEHEHH EIR 348 173 175 46 20
6 BN ER ZEM 347 174 173 47 18
17 B BB INEFTH 319 149 170 29 13
8 HIE XE L0l 295 158 137 30 12
9 FAH % INEFTH 255 127 128 17 2
CP&ZFMDER
JIIE 452 K £ il & F 1st 2nd 5+6 6
1 R&mzEF FEEIT] 360 180 180 54 25
2 WE —iI =i 01l 305 158 147 24 7
RCEFnER
JIIE 452 K £ il & F 1st 2nd 5+6 6
1 &% A EEX 348 174 174 44 20
2 =EE Rt EEX 329 166 163 38 16
3 Ik AR BEX 312 152 160 31 10
4 Xl ER EEX 309 152 157 17 7
5 WT =7 ri=E=JNI=Y 307 154 153 27 10
6 X¥BH HE EEX 306 151 155 28 8
7 )NO#%HE—ER E+tfEs 299 150 149 26 4
8 #AR & HER 271 131 140 18 4
9 |UE Bk pi:E=JNNI=Y 269 140 129 21 3
10 FIg FH =% 266 128 138 17 4
11 FEiE f(HhiF INEFHTH 263 134 129 14 5
12 1% #H BTET™ 259 130 129 17 9
13 #A X% FAEREM 242 131 111 15 5
14 F5 = INEFTH 240 117 123 13 6
15 it HBE X 205 115 90 11 1
16 =X Big i X 203 94 109 7 1
RCXZFDER
JIE 42 K £ il & F 1st 2nd 5+6 6
1 =BH k& BREAX 291 143 148 24 9
2 ERM&KF FAEREM 270 137 133 19 8
3 KM HE BEER 260 131 129 14 4
4 tEHLEY BTET™ 255 129 126 17 6
5 FEBTHF INEFTH 245 121 124 17 6
6 Jlla ZE&E FHERET 244 120 124 14 8
7 tREHR BREAX 203 101 102 10 3
8 XX HF X 166 81 85 5 0

VR 2B FERURAL 7 4 — VR FHER 2



BBEFDE

JIIE 452 K £ il & F 1st 2nd 5+6
1 ML ERN EARX 296 147 149 25 8
2 Eif gt hRX 291 149 142 24 3
3 BEER % L0l 276 142 134 16 9
4 o)l FHE BTET™ 274 138 136 20 7
5 ®Jl - ME)IR 264 128 136 19 7
6 {ERKE— BTET™ 255 125 130 14 8
17 FE HR*E BTET™ 255 132 123 11 5
8 EFH F— BEX 249 126 123 17 4
9 X¥ fhi— BTET™ 247 107 140 20 6
10 XiF Bid BEX 244 133 111 21 6
11 B FET BTET™ 223 115 108 12 4
12 &K #BA BTET™ 169 93 76 5 3

B BZFDER

JIIE 452 K £ il & F 1st 2nd 5+6
1 I fF MEIR 239 124 115 13 3
2 = 1ExE HE]| 211 95 116 12 2
3 EE BR= BTET™ 183 109 74 11 3

VR 2B FERURAL 7 4 — VR FHER 2

2/2



